O &REE (1 2#F)

1cm

50cm

3

= = FI==4E T S 7~ Py

o it BEE | BATE | BAE | BAE | BOE | BARE | D RAEBH | R bR
|EEREHE 0.05 0.07 0.05 0.07 0.05 0.07(E& b1 LatBIgEKE 10
0F IR EEE 0.05 0.08 0.05 0.08 0.05 0.08{75 vl 12
J|IBBREE 0.04 0.05 0.04 0.05 0.04 0.05 1
MY REE 0.04 0.04 0.04 0.04 0.04 0.04 1
SIAHREE 0.04 0.05 0.04 0.05 0.04 0.05 10
6| AHERER 0.04 0.04 0.04 0.04 0.04 0.04 10
N EFYAILEE 22— 0.04 0.04 0.04 0.04 0.04 0.04 10
SIEELREE 0.05 0.05 0.05 0.05 0.04 0.05 6
IfITHEEE 0.04 0.05 0.04 0.05 0.04 0.05 16
0|FHEEE 0.03 0.05 0.03 0.04 0.03 0. 04| EREFEAIHKE 10
N EHEEE 0.04 0.05 0.04 0.05 0.04 0.05 11
2| FEARREE 0.06 0.07 0.06 0.07 0.06 0.07 8
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